Ασκήσεις
1. Τι τυπώνει ο ακόλουθος κώδικας
int i = 0, j = 0;
System.out.println(i++ + " " + (++j));
int k = j++;
System.out.println(k == j);

2. Τι τυπώνει ο ακόλουθος κώδικας
int k = 2;
System.out.println((k += 2) == (k *= 2));

3. Τι τυπώνει ο ακόλουθος κώδικας
int i,j,k;
i = j = k = 0;
System.out.println((i++ == 0 || j++ == 0) && k++ == 0);
System.out.println(i + " " + j + " " + k);

4. Τι τυπώνει ο ακόλουθος κώδικας
int i,j,k;
i = j = k = 0;
[bookmark: _GoBack]System.out.println(i++ == 0 || j++ == 0 && k++ == 0);
System.out.println("i++ == 0 || j++ == 0 && k++ == 0");
System.out.println(i + " " + j + " " + k);

5. Τι τυπώνει ο ακόλουθος κώδικας
int i,j,k;
i = j = k = 0;
System.out.println(i++ == 0 && j++ == 0 || k++ == 0);
System.out.println("i++ == 0 && j++ == 0 || k++ == 0");
System.out.println(i + " " + j + " " + k);
